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Instructions {o Pupils:

1. Do not open this booklet until you are told to do so.
2. Follow all instructions: carefully.

3. This paper consists-of 3 parts, Sections A, B and C.
4.

5.

ANSWER ALL THE QUESTIONS.
Check all answers carefully.

SecfionA | 10 "
Secﬁop B 12

Section C ' | 8

Total | 30

* This paper éor;si_sts of 8  pages -a!iqgethér.

This paper is not to be reproduced in part or whole without the permission
of the Principal.



SECTION A (5 x 2 marks) |
‘Choose the correct answer and writo:ifs:number in the brackets provided.

1. The slice of watermelon costs

(1) 20¢

2) 30¢

(3 S0¢

4 7Ce (
2. Annie spends __ on food.

(1) 3115

(2) $2

(3) $5.15

4) 34 {
3. $14.60 is fourteen dollars and ____cents,

(1) fourteen ' -

(2) forty-six

3 forty

(4) sixty {



4. $8and _ make $10.

(1 $10
2 %2
3 8
4 %4

5.  Study the items below and answer the following guestion.

notebook schoolbag
$3 . $5 | $17
The total price of the notebook and schoolbag is
(1) $8
2 $14
(3)  $20
@ s ‘ (



SECTION B (6 x 2 marks)

Show ALL your workings clearly.

6. Fill inthe boxes with the correct answer.

e,, qyestwns carefully. Write your answer in the space provxded.

(a) $3.05 = dollars cents
—

(b) $61.40 = doltars ’ cents

(a) $1 = cenis

b 1% = 390 cents

8. Circle the most expensive foy.

toy truck
$26.00




9.  Fill in the box with the correct amount of money.

10. Colour the correct amount of money.

k4




11. Study the pictures below.
Then answer Q11 (a)and (b).

blender

(a) Mrs Lee bought the iron and table lamp.

How much did she pay for them? $

(b) How much more would Mdm Siti spend if she bought the iron and clock
as compared to buying the blender only?




SECTION C (2 X 4 marks)

the quest:ons carefully. Show all your wcrkmgs, equations and word statements

clearly.

: V Workigg‘
12.  Rani bought 5 sheels o{ stickers and 1 box of paint.

A sheetl of stickers costs $5 and a box of paint costs $7.
{a) How much did she have to pay altogether?

(b) She gave the cashier $50.
How much change did she receive?




13. 3boxes of qupcakes cost $18.

o SRR Ry g L Workin
{a) How much does one box of cupcakes cost? i

(b_) How much do 10 such boxes of cupcakes cost?

End of paper
Have you chocked your work?




EXAM PAPER 2015
SCHOOL : ROSYTH SCHOOL
SUBJECT : P2 MATHEMATICS

TERM : CA2
Q1 Q2 Q3 Q4 Q5
4 3 4 2 3

6) a) $3.05 = 3 dollars 5 cents b) $61.40 = 61 dollars and 40 cents

7) a) $1 = 100 cents b) $3.90 = 390 cents
8) circle : toy train 9) $26.50
1

0) |

@



11) a) $32 + $24 = $56
b) $32 + $19 ='$51
$51-$44 = §z.
12) a) 5 x $5 = $25
$25 + 57 =832
b) $50 - $32 = $18
13)a) $18+3=$6
b) 10 x $6 = 560



